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THIRD SEMESTER

EC 1202 — CIRCUIT ANALYSIS
ELECTRONICS AND COMMUNICATION ENGINEERING
Time: Three Hours Maximum: 100 marks
ANSWER ALL QUESTIONS
PART—A (10%2=20 marks)

1. Define link and tree of a network.

2. Give the relationship between selectivity and bandwidth
of a series resonant circuit.

3. State "I/‘,ellegenis Theorem.

~

Three 109 tesistances are connected in star. Draw its
equivalent delta connection.

Define poles %ind zeros of a network function.
Define time constant of a I order circuit.

What is meant by double tuned circuit?

S

In two wattmeter method of power measurement, if one
wattmeter reads zero, what will be the power factor of the
circuit?

9. What is driving point admittance of a two port network?

10. Name the various h parameters of a two port network.
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11. (@ () What is duality? Draw the dual network (8)
for an RLC series circuit excited by a DC
Voltage source.

(i) A coil having a resistance of 5Q and an (8)
inductance of 0.1H is connected in series
with a 50uF capacitor. Find the resonant
frequency and @ factor of the circuit.

Or

(b) () Derive the resonant frequency of a parallel (8)
circuit.

(i) Obtain the mesh currents in the circuit (8)
shown in fig.1.
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fig.1

12. @ (I Find the equivalent resistance across A (8)
and B in the network shown in fig.2.
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(i) Obtain the Thevenin's equivalent for the (8)
network shown in fig.3.

J e sk
. *
29
® L
Ay
, . b
fig.3
Or
(b) (i) State and explain Reciprocity Theorem. 8)

(ii) Find the current L in the circuit shown in  (8)
fig.4 using Superposition theorem.
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13. (a) () Obtain the step response i(t) of an R(
series circuit with an initial capacitos
voltage of Ve.

(i) In the circuit shown in fig.5. The switch is
closed on position 1 at t=0 and then movec
to position 2 after one time constant
Obtain the circuit current at t>0 and t>.

fig.5
Or

(b) () Obtain the transient response of an RL
series circuit with sinusoidal excitation.

C




[image: image5.png](ii) A series RLC circuit with R = 50Q, L=0.1H (8)
and C=50uF has a constant voltage of
100V applied at t=0. Obtain the current
transient assuming zero initial charge on
capacitor.

14. (a) (i} Derive the relationship between self and (8)
mutual inductances of a coil and explain
the terms involved.

(ii) A three phase three wire balanced delta (8)
connected load with power measurement
using two watt meters yields wattmeter
readings of 1154W and 557W. Obtain the
load impedance if the line voltage is
141.4V.

Or
(b) Explain with necessary circuit and phasor (16)
diagrams, three phase pewer measurement by

two wattmeter method.

15. (a) (i) Obtain ‘Y’ parameters of a two port (8)
network shown in fig.6.
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Define Propogation Constant,
Characteristic impedance and Cut Off
frequency of a filter.

Or

Explain ‘ABCD’ parameters for a two port
network.

Write short notes on constant K filter and
m derived filter.
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